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 שאלון 803
1.   

 אנשים. 6 –אנשים, קבוצה ב'  16 –קבוצה א'  .א
 ש"ח. 1088 .ב

2.   
  .א

)1( m 1= 
)2( y x 3= − 

 E(3,0) ,D(7,4) ,C(6,5) .ב
 שוקיים.-ולכן המשולש הוא שווה  BCהוא גם תיכון לצלע   EDהגובה .ג

3.   
  .א

)1( Ay 8= 

)2( y 2x 40= − + 

 B(6,28) .ב
 יחידות שטח SAMB=125  .ג

4.   
x .א 0≥ 
 min(4, -8) .ב
x עלייה: .ג 0, ירידה: <4 x 4< < 
 (0,0) .ד
 IIIגרף  .ה

5.  
)B .א 1,4)− ,A(5,40) 

y .ב 4= 

 .ג
2S 6
3

 יחידות שטח =

6.   

AK  .א x=    ,
1 1BK x 5
2 x

= + ⋅ + 

 .ב
1x
2

=  

 


